CASBEEL®ICHITHEREH DRIFEERABIE CASBEE-IR 5 201441

EERIHARY RWLESERFFBRHRETS

KT ROZERICIRRRERG OBMEEIASL TS,

B & 1H B EXITIEECE M
1. [ BCRBE1E X 5K I DHEE
1.1 BYOEEEHIH]
(@xvh)  XEEFREHRISEHLTUZED 3.0 058
EYOE LB I RS ERIRE 2| REMRIE 2.1| =R HI 2|5 R 1 RE
4.2 042 |wri|THLE— 1320 R A F
INET| 3.5 0.07
1.2 BAIRILF—DFHA
(@AAvh) XEBEFEEHRICEHLTIEND 3.0 1.00 [wr|zRxe— 2| BRI —FI

BICEAIRILE—ORAIXITo>TLEL,

NG| 3.0 0.06

13 RIEVATLDEHEL

(@Avh) XEEFRERICEHLGEEN. O 50 100 |wri|zrix—

W

Bl AT LOBHEL

COPDEL\EMEHKRBERA

INET| 5.0 0.28

14 BHEATLOYDERMER

(@AVh) XEEFEEERICEHEL TSI 3.0 050 |wi|zsis— AT P R
DERPRDIAESAT L 20 050 |[wi|THRLF— 4| eER 4.2 SBREE RS
NG 25 0.11

15 BER-ITUTILRE
@Ah) HERRREMRISERLTIEL. O 40 | 010 [w=[mm-~7u7n | |xames 11[EK
iﬁﬁ %f%iﬁ?ﬁt’ Aéf—ﬁgpoﬁﬁ%’%ggﬁu‘% 3.0 011 |m|ar~<7u71 | 1|xarss 12| FARIA- HEKBERA | 1|[KRES AT LEAOER
SEERAL . = =80 005 |[wl@im-v7u7L | i|KaREE L2{TARR MAEHA | oMk A7 LBA0kR

3.0 0.08 [wm|&E-<FUTIL | 2|kBEsMaRoEREEE |21 (M EHEAEOLHIH

3.0 017 |Re|&E-=FUTIL | 2|kBEHEROEREEE |2.2| B2 SR IAZ DR

3.0 017 |R|&E-<FUTIL | 2|kBEHEROERBEIE |2.3BEBIZETEUS I LHOER

1.0 017 |we|&R-<7U7L | 2|EEsuaEommEsm |24 smmsmncsr sy oisonn

ER-TTIUTIL 2| EBmaEMEROEABHIE |2.5|HGETaumms SEHSNIAM
3.0 017 |[Re|&E-<TUTIIL | 2|kBEnEEOERSEIR [2.6|8H0BHATEE EADKREA

INET| 2.8 0.34

1.6 SA47HA4)LCO28FHHE

(arvh) XEEBREmRCEHELTIESD 4.9 1.00 [crs|Bithsrims

—_

KRR~ DR

B ERBLBORA

INGT] 4.2 0.14

1.7 IR R BE b Xt 38 ) 0D HE L D F1 3.6 0.72

W2 [E—F7ASURRERIDHE

21 REIREBEOMR L

(@rvh) XEERREMRICERHEL TS, 3.0 049 |a3|=smesam) | 1|EMBEORLSLEIH
E{gi@fﬁ{fﬁﬁﬂﬂﬂu BARGEEDYELEALTER [ 20 024 |o3|=sms@unm) | a|wsir-71=7~omE|s2|BmmEnEEom L
i ’ 1.0 027 |wro|supsimss o|wmmE~orE |22 EnEmELORE
INET| 2.2 0.96
2.2 IBEAETTHH
QAL KERFREMRIEHL TS, 40 1.00 [wrs|mutstimss AHBEAOERE |23\t TS~0aHEIS | 3|BEERIH
BEE, BHARR—REREEL TS,
ING 40 0.04
2.TE=FPAFU0 % 3R | D HELHE O 5T A 2.3 0.20
W3 [REMIEXIRIDHE
3.1 MHRAMEDRmLE
@AoN)  XEBBREMRICLBL TS, 20 0.18 [oz[+—e=iae o|fit P - fE HENE 21|WE-RE 1|t
MAEHOEWVINEM. TV BEEMEEA 3.0 027 |o2|4—Ezise 2|t Fat - (BB 21|tE-RE 2| HIR AL
L. EZMOMAEORLICEET 2. 30 | 011 |az|v—rtzumee | o|mme-mae 22|E BHOWMAEN | 1| BEHROTNAEM
3.0 0.11 |Q2|y—ERMEE 2|t - S4B 2.2| 885 - BB D A EE %k 2|5 BRI L P M DRI L BRI
3.0 0.05 |a2|v—Exits: 2|t - 15 8E S 22|88 ERM DT A ESK |xEmsH LR OERLEER
3.0 0.05 Q2|9 —E R 14HE 2| -8 2.2| 8B én - ER M DTt FH 3K 4|Z=RABES VDO EH D ERR
40 0.11 |Q2|y—ERMHE 2| At - S 8E 22|58 & - EB41 DD FAEE 5L 5|25 - KB E O EH B ERR
3.0 0.11 |Q2|—ERMEE 2|t R - 15 4B 2.2| 8B - BB O A EE %k 6| X BB BB OELHHERR
INET| 2.9 0.58
32 EimDEHM
(QAVR) KEFOFELHRICERL-FRERHL TS, | 30 020 [|a2|4—tziae 3|t e - E A 33|BiEn B 1| RS DEFHE
BEARZEOLTVLIITEHRAR—RDIERE 3.0 0.20 [o2[y—E=xttae 3|5t st - 1 R E L 2|k E DES
fToTha. 30 | 010 |ov—rczme | o|mme mpe sa|mmoEHE |EnEsoEHE
3.0 0.10 [oz[+—e=mae 3|ttt - EEE 33|mmoEDHE sl EEREOESM
30 0.20 [oz[+—exmae 3|t st EEE 33|mmBoESE 5| iEHBEDELH M
3.0 0.20 [o2[4—E=tiae 3|t st - B E 33|mmoESH 6|/ \woTvTRR—2 DREAR
INET| 3.0 0.42
ITRFMIERIDHEDNDFH S (LFE2IE) | 30 0.09
BELAEEOHRFEYN(LEFEIER) 3.3




